Nom, prénom :                                                                                                              Date : 


Mathématiques 
Les soustractions
________________________________________________________________

500  -  384  = ( 500 - … ) - … - … = ….  



800  -  742  =  



300  -  117  =



700  -  265  = 



900 -  358  = 



470 -  141  =



680  -  326  = 



590  -  453  = 



740  -  238  = 



360  -  212 = 


Nom, prénom :                                                                                                              Date : 


Mathématiques 
Les soustractions S2 - Correction
________________________________________________________________

500  -  384  = ( 500 - 300) - 80 - 4 = 116 



800  -  742  =  ( 800 - 700) - 40 - 2 = 58



300  -  117  = ( 300 - 100) - 10 - 7 = 183



700  -  265  = ( 700 - 200) - 60 - 5 = 435



900 -  358  = ( 900- 300) - 50 - 8 = 542



470 -  141  = ( 470 - 100) - 40 - 1 = 329



680  -  326  = ( 680 - 300) - 20 - 6 = 354



590  -  453  = ( 590 - 400) - 50 - 3 = 137



740  -  238  = ( 740 - 200) - 30 - 8 = 502



360  -  212 = ( 360 - 200) - 10 - 2 = 148

Cours de mathématiques : Les soustractions                                                                                  Exercices S2

